1. The total sale of store during the month was X 384587 and expenditure was X 234908.

2.

3. Population of a town was 234700 two years ago. It has increased by 314630 since

4. Alibrary has 167390 books. Of this 76510 books are in English. How many books are in

Problem on Subtraction

What profit did the store make during the month?
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In an election Mr Anil got 96417 votes and Mr Nalin got 62541 votes. What was the

victory margin?
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then. What is the increase in the population during the last two years?
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other languages?
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